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’5] ANGLICTINA pro mladsi skoliky v jazykovém studiu ROLINO

Jak je to spravn&? Dopis a vymaluj jen obrazek, kierj odpovidi textu. | wuewz -
Obrizek, kiery textu neodpovida, skrtaiz X AR ERE]

¢ Do yow need a lamb and
a chick for your Easter
present?

$ No. I don't need a lamb

and a chick for my Easter present.

1 __heed a ribbony, a
skewer, coloured pencils,
scissory ands glue for my
Easter present.
® Do yow cut out two Easter
bunnies withv yowr scissory?
¢ No, I dont __Cuttwo
Easter bunnies out with my

scissors.

[ CUt  out two Easter eggs
withr my scissors.

¢ Do yow bind the ribbow
to- your lamb?

¢ No. 1 _don't bind the i

ribbon to my lamb.

I bind the ribbon to-

this skewer.
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There are four Easter bunnien
three Easter lambs and three
Easter chickens.

(1)The first bunny is happy and (2)The second bunny is sadder. - This bunny is #&d:
(3)The third bunny is the saddest. - This bunny is greens (4)The fourth bunny is dirty. - This
bunny is blugr (5)The first lamb is big and@ (6)The second lamb is smaller . - This
Easter lamb is gf#y (7)The third lamb is the smallest. - This lamb is 4@ (3)The first

chicken is fat and yellow. (9)The second chicken is slimmer. - ThlS chicken is b}uc (10)The
third chicken is the slimmest. - This chicken is green. ‘

( Nasledujici véty preloz do estiny do canciku!

" Y
Jak je to spedvn? Dopi¥ a vymaluj jen obrazek, kierj odpovids textu. ' mTI
Obrazek, kiery textu neodpovidi, Skrini: i | EVERY YEAR!

¢ There are two boys and one girl. Does the first boy sing Easter songs?
Does the second boy spank his sister?

® No. the first boy doesn't sing Easter songs
No; the second boy doesn't spank his sister
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AKktivné probrana slovni zasoba
(25) - (28)

Dopis Eesky pieklad veskerd

aktivné probrané slovni 2asoby!

SLOVESA

bind [baind] = gy473t N

bring [orin] = pFin_ést N

catth  [ked] = chytit

colour Ikl = yybarvit

cut out = vystfihnout

cut kal = stfihat o

drench  [drensl = pamodit :
give [giv] = dat

need [nd] = potiebovat

put [put] = dat, polozit

reward ['wo:dl = odménit

spank [spenk] = Zlehnout, placnout

stick together [stik] [t’gedd] = slepit

wait weitl = ¢ekat -

33



@ ANGLICTINA pro miadsi skolaky v jazykovém studiu ROLINO

PODSTATNA JMENA

birthday [ba:8dei]l = nparozeniny

bunny (PL: bunnies)  [bani] = zajicek (pl.: zajicci)

bush [bus] = ker

cake keikl = dort _
coloured felt-pen [feltpen] = parevny fix

coloured pencil pensll = barevni pastelka_

Easter  Gis®l = Velikonoce -
Easter bunny [i:sto’ bani] = veIikonoénizajl'Eék

Easter cake [.isto’ keik] = maz_aﬁéc

Easter egg List-eg] = \}elikonoénivajiéko

Easter Monday Li:ste’ mandi] = Velikonocni pondéli

Easter present [preznt] = velikonocni darek
full moon _ = l:|p|nék

glue [ghu:] = lepidlo

grass [grais] = trava -
leaf (PL: leaves) [iAllivz] - = [ist (pl.: listy)

lunch [lan¢/lan§] = gbhéd -
ribbon [ban] = stuha ;
rod [rod] = _prUt, metla

scissors [sizaz] = n&iky_ _
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skewer [skjuo] = Spejle

song [son] = piéniéka R
stone [stoun] = kamen

symbol [simbl] = symbol

tree [tri:] = strom

OSTATNI SLOVNI ZASOBA

after ) [a:fta] = po
each egg [1:C][eg] = _kaidé vajicko
fifth [£if0] = péty
first [fa:st] = prvni
for the next léss;)n [nekst][lesn] = na pristi hodzlu -
fourth [fo:0] = Ctvrty
Happy birthday! - = VSechno nejlepsi -

k narozeninam!

- (Stastné narozeniny!)

He is five tbday. ) = Dnes je mu pét.
How old are you? - Kolikjetilet?
How old is he? ' = Kolik je mu let?
How old is she? Kolik je ji let?

I am six today. Dnes je mi Sest. B
It is my birthday today. = Dnes mim narozeniny.
My birthday is = Ja mam narozeniny

in July. v Cervenci.

in August. V srpnu.

in September. Vv ZAafi.

in October. v fijnu.

in November. v listopadu.

in December. Vv prosinci.
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I\_'Iy birthday is = J4 mam narozeniny

in January. v lednu.

in February. v Unoru.

in March. v bifeznu.

in April. v dubnu.

in May. v kvétnu.

in June. v Cervnu.
now |nau] = teg’, nyni
on one _s_idf - [szlid] - na jedné strané
one, two, three, four,_five | = jeden, dva, tfi, Ctyfi, pét
ready _ [redi] = pfipraveny, hotovy
ROLINO language studio [leengwidZ] = jazykové studio ROLINO
- B o [siu:diau] B
second [’sekond] = druhy
seventh [’sevnO] = sedmy
She is seven today. = Dnes je ji sedm.
six, seven, eight, nine, ten = Sest, sedm, osm, devét, deset
sixth [siksO] = Sesty
They are rewarded = Jsou odménovani
with coloured eggs. ) malovanymi vajicky.
third [6a:d] = tfeti
what? - [wot] = co?
What do you need? . = Co potiebujes?
YVhen is your birthday? o = Kdy mas narozeniny?
_YVHERI_Z? - _b(ihind the l_mx ) = KDE? za krabici
WHERE? - beside the box ) = KDE? vedle krabice
WHERE? --between the box: = KDE? mezi krabici

-and the bag. o a taSkou

WHERE? - in front of the box- = KDE? pfed krabici
WHERE? - in the box - = KDE? v krabici
WHERE? - next.to.the box- = KDE? vedle krabice
WHERE? - on the box B = KDE? na krabict
WHERE? - under.ihe box: o = KDE?pod krabici
with [wid/wiB] =S
with the rod = metlou (s metlou)
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